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WiER MBAZTE L AR EMBIET
% L3 A - BKTE Bifi g fili ® ) =

E R 19,865,980 + 1,331,343 21,197,323
EEAGE 19, 865, 980
EERE 1,331,343
Z O fth R AT 19,865,980 x 42.86% ( 30% =~ (1 — 30%) ) 8,514, 559
RHBRIE 21,197,323 + 8,514,559 29,711, 882
—REREE 29,711,882 x 53.85% ( 35% = (1 — 35%) ) — 1,730 15,998, 118
ES it 29,711,882 + 15,998,118 45,710, 000
HERERLE 45,710,000 x 10.00% 4,571,000
¥BETEH 45,710,000 + 4,571,000 50, 281, 000



EENRE BIFLE+ AR EBRILT

£ i RE - MR E BT % B L i ' # mE
BRI 21,197,323
EEWEMEES 21,197, 323
EERBERE 21,197,323
EERBEEE 19, 478, 580
EEWEMEES 19, 478, 580
1T EB#EEERE ) 12.00 41,720 500, 640
2 EBMEESEQ ? 1.00 11,081, 340 11, 081, 340
3 BEEMHIEBQ : 1.00 7, 896, 600 1,896, 600
HEt : 327, 800
et 327, 800
4iTEYE 11.00 29, 800 327, 800
ik - WS 5 59, 600
ek - |mE 59, 600
5 1% - W|E 1.00 59, 600 59, 600
E#EEE : 1,331, 343
REXBE 6, 838




EENRE BIFLE+ AR EBRILT

% L B - KT iE Bify B s B ff &= # m =

6 fc#E 1.00 6, 838 6, 838
=

EBREPEENE S VERES 600, 000

T XBRAEDEENE L VELES 1.00 600, 000 600, 000
=

MR 41,000

8 EBHMEMRE 1.00 41,000 41,000
=

ERE 114,168

9 HRE 1.00 114,168 114,168
=

EHERAME 189, 779

10 FHEARE 1.00 189, 779 189, 779
=

BEERERREE 379, 558

N BEERERARE 1.00 379, 558 379, 558
=




Bifik- I/ \vr—

MBEBE T REREEMMES

&5 1
& BEEWBEREO) 1B&Y
£ b I - wAKTE B H = B {f & ] B i &
HEm (A) (FHTEE)
A 0.700 59, 600. 00 41,720
& Hi YEZ8EH - 1.00A 41,720.00 41,720
FHEEFRSEE T L
FHE—FBEMHE : L
&5 :2
2% EEWHBERE Q) 1KLY
% b I - wAKTE Bfg H = B ff & ] B & &
ik (C) (BHTEE)
A 242.000 41, 670. 00 10, 084, 140
BRERITAENR L HHEMC
B il 240. 000 4,155.00 997, 200
& Hi YEZEREH - 1.00K 11,081, 340. 00 11,081, 340
FHEEBNAGE:-HY HEAR  EFHEMEM PrEAEEER : [2.00] #IE : [1+0. 2501 BFrESNFEEER - [0.00] FrEs M E®&ER - [0.00] KBEAZL
FHE—FEHE : L
&5 :3
2% BEEWHBEHEQ) 1KLY
% b I - wAKTE Bfg H = B ff & ) B & &
R (C) (FHTEE)
A 123. 000 64, 200. 00 7, 896, 600
& it 1E%¥HEH - 1.00K 7,896, 600. 00 7,896, 600
FHEERNAGE:-HY HEAR  EFHEMEM FrEAFEERERM : [0.00] HIE : [1+0. 2501 FrESNFEEERM : [6.50] FrEs M ERERM : [2.001 #KBEHL
FHE—FBEMHE : L
BE5 4
W TEE HEED
% b I - wAKTE Bfg H = B Off & ] OB i® &
HEm (A) (FHTEE)
A 0. 500 59, 600. 00 29, 800
& w festen - 1.00E 29, 800. 00 29, 800

FHERFMNFEE G L
FHE—IEHE : B L




BEflR-FET/\vr— BT BT AGRE B ML

&5 :5
28 %% - |mE XLy
% b3 R - BRT3E Bif % B 1] ® # = w5 =
HER (A) (SHTEE)
A 0. 500 59, 600. 00 29, 800
AR (A) (SHMTEE)
A 0. 500 59, 600. 00 29, 800
& Hi YE%8EH - 1.00=K 59, 600. 00 59, 600

FIEHERSMEE L
FH—RBHE : G L

&5 :6
2% IRE 1XHY
% b I - wAKTE BARL ¥ = B ff & ) = 5 &
XEE BHEE GES)
= 1.00 6, 838. 00 6, 838
& Hi YEZEREH - 1.00K 6, 838. 00 6, 838
FHEERAEE HL
FH—RBRHE : L
&5 :17
&% EBABBESHS L NEELRES IE=10)
% b g - KTk Bfg #H =2 B i & ] OB & &
(AR DEENSLVEGRES
= 1.00 600, 000. 00 600, 000
& it 1E%¥HEH - 1.00K 600, 000. 00 600, 000
FEEREAEE GL
FHE—FBEMHE : L
&5 :8
2% XBRERERE IE=10)
% b g - KTk Bfg #H =2 B i & % W OE i®m &
EBHERE
= 1.00 41, 000. 00 41, 000
=) it E¥HEH - 1. 00 41, 000. 00 41,000

FHERMNFEE G L
FHE—IEHE : B L



BEflR-FET/\vr— BT BT AGRE B ML

&5 :9
& mRE XLy
2 b I - wAKTE =X H = B {f & ] B i &
HRE
= 1.00 114, 168. 00 114,168
& Hi YE%8EH - 1.00K 114, 168. 00 114,168
FHEEFRSEE T L
FHE—FBEMHE : L
E#5 .10
&% EHRARE [
2 b I - wAKTE ==X H = B ff & ] B & &
EBERARE
= 1.00 189, 779. 00 189, 779
& it 1E%¥HEH - 1.00K 189, 779. 00 189, 779
FHEERAEE G
FHE—FBEMHE : L
&5 1
2 BEEMERARE 1X&Y
% 7 I - wAKTE By H = B i & ] W OE & &
BEBERRZE
= 1.00 379, 558. 00 379, 558
& & fesfEn - 1 005t 379, 558. 00 379, 558

FHEBMNFEE G L
FHEIEHE : BL
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